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1| BBE 0.56 1| HER 15.62%
2| HRE 0.51 2| IR 15.25%
3| REARE 0.50 3| BERER 14.82%
4 FHE 0.49 4 RIFE 14.71%
4 RIFE 0.45 5| BHE 14.56%
6| AR 0.44 6| EER 13.84%
6| EBE 0.43 6| WLWAE 13.37%
6| FAEHE 0.43 8| MHER 13.04%
9] EER 0.42 9| BIER 12.79%
9| EigE 0.42 9] EER 12.59%
9| FNERILE 0.42 11| BRE 12.52%
9 XnE 0.40 12| XHR 12.44%
9l FNIE 0.38 1B EESE| 1207%
9 ERBE 0.38 14 FFLE ] 11.71%
9] HEFE 0.37 15| EFR 11.53%
9l BHE 0.37 16 FIER 11.48%
9] EWE 0.36 17| RARAF 11.10%
18] [LBE 0.35 18 EHE 10.90%
18] EHE 0.34 19 BHE 10.74%
18| REDAF 0.33 20| EENE 10.60%
18| KBRAF 0.33 21| LEE 10.48%
18] HER 0.33 2| fEBE 10.48%
18| REILE 0.32 23| ERR 10.44%
18] #HARE 0.32 24| ZER 9.97%
18] ERR 0.32 24| FEWLE 9.92%
26| HRWE 0.32 26| BHER 9.77%
26| EEE 0.32 27| FTHE 9.68%
26| BRE 0.31 28| KERFF 9.62%
26| =ZEE 0.31 29| tEEE 9.52%
26| deiEiE 0.30 30| LBE 9.20%
26| HER 0.29 31| IHAKRE 9.02%
26| fEME 0.29 32| LR 8.80%
26| LR 0.29 33| dbiEE 8.62%
26| RBR 0.27 34| HBE 8.48%
26| FER 0.25 35| AJIE 8.45%
26| EER 0.25 36| EWE 8.10%
26| EWE 0.24 36| EER 7.90%
26| HIIIE 0.24 38 FEE 7.71%
26| BHER 0.22 38| EWE 7.27%
40| FEREE 0.22 40| BERE 7.20%
40| BEE 0.21 0| REFE 7.15%
40| IKEE 0.21 2| FERE 6.43%
40| RFE 0.20 43| EEE 6.41%
40| HEJIIE 0.19 44| FE)I|R 6.27%
45 EHE 0.18 45| FiRE 5.97%
45| #HiRE 0.17 46| EBHE 5.56%
45| HREB 0.15 47| EEAR 4.97%
| ¢=Fy | o028] | eE | 8.64%]
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